Answers 21/4/20

Answers Pronouns to Avoid Repetition
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Maths Year 5- Calculate Perimeter
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Year 6 Maths-Area and Perimeter
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Expected

5a. Personal pronouns: her, he and they
Relative pronoun: whom

6a. Ismael's wife and children

7a. which

8a. Her mind, which was never very
confident, began o race.

Expected

5b. Personal pronouns: they

Relative pronoun: that

6b. Ren

7b. who

8b. The lady, who had been standing in
the path of a galloping horse, had
seemed very thankful for being pushed to
safety.
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Expected

4a. Various answers, for example: He
knew that he just had to overcome his
fear.

5a. Various answers, for example: Lysias
struck his knife, which was nice and sharp,

Expected

4b. Various answers, for example: She
hoped that she was skilled enough fo do
this.

5b. Various answers, for example: Axel,
who had stopped at the edge of the

against the hard rock and sparks flashed
in the half-light of the cave entrance.

6a. Marcus is incorrect as ‘which’ is
usually used fo refer to objects and not
people. He should have used the relative
pronoun ‘who’.

canyon, groaned.

6b. Sienna is incorrect. She should have
used ‘whose' fo indicate possession as the
patience belongs to Elena.
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Expected Expected

5a. A =59cm; B =43cm 5b. A =85cm; B = 42.5cm
6a. 53m 6b. 71m
7a. False; A= 44cm, B = 68cm 7b. True

8a.C 8b. A
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Expected

4a.72cm

5a. Various answers, for example:

20m +10.5m +20m + 10.5m

6a. Lucy is incorrect because she has only
added the labelled measurements. The
missing measurements are 4m and 4m.
The perimeter is 63m.

Expected

4b. 88cm

5b. Various answers, for example:

20m + 8.5m + 20m + 8.5m

6b. Tahir is incorrect because he has only
added the labelled measurements. The
missing measurements are 17.25m, 12m
and 6.25m. The perimeter is 107m.
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Expected

5a. 100mm

6a. Area = 15 x 24 = 360ft2

7a. A. Area = 108cm?, Perimeter = 42cm
B. Area = 72cm?, Perimeter = 36cm
8a.B

Expected

5b. écm

6b. Area =23 x 19 = 437m?

7b. A. Area = 63cm?, Perimeter = 32cm
B. Area = 104cm?, Perimeter = 42cm
8b. A
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Expected

4a. Area = 57cm?, Perimeter = 44cm

5a. Largest area = 20cm x 21cm = 420cm*
Smallest area = 40cm x 1cm = 40cm®

6. Agree; some squares have an equal
area and perimeter (for example, 4cm x
4cm), however, others do not (such as
Scm x 5cm).

Expected

4b. Area = 44cm?, Perimeter = 48cm

5b. Largest area = 17cm x 17cm = 289cm®
Smallest area = 33cm x 1em = 33cm®

6b. Disagree; some rectangles have an
equal area and perimeter (for example,
3cm x 6cm), however others do not (such
as 7cm x 5cm).




